PF. 1:

3x.(2a—1) —5y(2a—1) =
2y.Bp+q)+3p+q=
4ab.(—a+5)—(5—-a) =
2yv.B3p+q)+3p+q=
3x.(2a—1) —5y(2a—1) =
PF. 2:

5a+5b+ax+ bx =
xy+y+x+1=

10ax + 2ay + 15bx + 3by
x3—x2+x—-1=
ab—ac+4b —4c =

2ay + 3xy — 8az — 12xz =
PF. 3:

(a+2)-y(a+2)
a(x-2)-x+2
Xx(x-5)-6(5-x)
Jax+ay+ 3bx+ by

a+a +a+l

(a-T)-v(a-T7)
x({a+t3)-a-3
2(a-4)+x(4-a)
bx + 2Zby + ex + 2cy
A +Hx+1
x(a-1)+2(1-a)=
Ax—y)-Tz(y—-x) =
a’(2a—-3)+(3-2a) =

PF. 1:
3x.(2a—1) = 5y(2a—1) =
2y.Bp+q)+3p+q=
4ab.(—a+5)—(5—-a) =
2y.Bp+q)+3p+q=
3x.(2a—1) = 5y(2a—1) =
PF. 2:

5a +5b +ax + bx =
xy+y+x+1=

10ax + 2ay + 15bx + 3by
x}-xt+x—-1=
ab—ac+4b —4c =

2ay + 3xy —8az — 12xz =
PF. 3:

(a+2)-y(a+2)
a(x-2)-x+2
X(x-5)-6(5-x)
Jax+ay+ 3bx+ by

a+a +atl

(a-7)-y(a-T)
x({at3)-a-3
2(a-4)+x(4-a)
bx + 2by + ex + 2cy
X+ +x+ 1
x(a=-1)+2(1-2a)=
4x—y)-Tz(y —x) =
a’(2a-3)+(3-2a)=

PF. 1:

3x.(2a—1) —5y(2a—1) =
2y.Bp+q)+3p+q=
4ab.(—a+5)—(5—a) =
2y.Bp+q)+3p+q=
3x.(2a—1) —5y(2a—1) =
PF. 2:

5a +5b+ax+ bx =
xy+y+x+1=

10ax + 2ay + 15bx + 3by
x3-x?+x—-1=
ab—ac+4b —4c =

2ay + 3xy —8az — 12xz =
PF. 3:

(a+2)-y(a+2)
a(x-2)-x+2
X(x-5)-6(5-x)

Jax +ay+ 3bx+ by

a+a +a+l

(a-7)-y(a-T)
x(fa+t3)-a-3
2(a-4)+x(4-a)
bx + 2by + ex + 2cy
A+ +x+1
Xfa-1+2(1-a)=
4x—y)-7z(y—x) =
a’(2a—-3)+(3—-2a) =

PF. 1:

3x.(2a—1) = 5y(2a—1) =
2y.Bp+q)+3p+q=
4ab.(—a+5)—(5—a) =
2y.Bp+q)+3p+q=
3x.(2a—1) = 5y(2a—1) =
PF. 2:

5a+5b+ax+bx =
xy+y+x+1=
10ax + 2ay + 15bx + 3by
x3—-x2+x—-1=
ab—ac+4b —4c =

2ay + 3xy — 8az — 12xz =
PF. 3:

(a+2)-y(a+l)
a(x-2)-x+2
X(x-5)-6(5-x)
Jax+ay+ 3bx+ by

a+a +a+l

(a-7)-y(a-7)
x(a+3)-a-3
2(a-4)+x(4-a)
bx + 2Zby + ex + 2cy
x4+ +x+1
xfa=-1)+2(1-a)=
4x—y)-Tz(y-x) =
a’(2a—-3)+(3-2a) =



